MATH 3002. INTRODUCTION TO -
MATHEMATICAL REASONING.
FALL 2015.
QUIZ 7

. (30 points) 1) Give Peano’s axiomatic of Arithmetic.

2) Since 1 is a special subject, the predicate-z = 1 is well-defined. Give
the predicative definition of n = 3.(You need to use the basic predicate
a(m,n) - the natural number n is the successor of m).

Prove that the object “3” exists and unique.
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2. (70 points) Proce by the methos of mathematical induction that
1)S, = Z JU+1)=1-242-3+...4n-(n+1) = nin+1)(n+2)/3;
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2. (70 points) Proce by the methos of mathematical induction that

DSp= ) j-gl=1-U42.A4-ign-nlmn+=1;
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2)2" < nlin 2 4;

3)n? <nln24.

&/\ Qf"<\v‘. ) V2 Y
Y LV:L‘- > .;L"l LM\ ‘) 464_M g “T—ch(t%ﬂ\st’,)

TodumcAive Cowols Foomall "
(/l\" LK;\.) A \g>){> ? (Q,\/\+L4(k¥i->[.> .
. P \
Py # (x4 UL gt Dk D

QW*L % (\(Jr&}\\ (%“:"\‘—L L&+5.7Q,>:>Q.
e &.»«’ (Vw)‘rv)/t{,



Bopavelenh w&@i).l
LowiL Hesl s U6l Tng

Zs) whdy) wal

. Pl | Loduokve esskilinad
)
(V\ﬂ“ MQC-L)‘) D ki< ¥ ey

S LO(ED! ) @ T
k7Y A (%) 26 (%34).
u‘b&'('e“”\“ MC%
> k¥ 9 ()] ehy! >k (ket)> (et)”

S:Mu \/\':{/) V\'\—L &—‘n’" [/\,;Q/



